Individual Meet Entries Report

2014 Kiwi Cash Meet 17-Aug-14 SC Meters Location: Freberg Pool, Palmerston North

Karori Pirates Swimming Club [KRIWN] Group: SW SubGroup: C13 Coach: Steve Francis

C/- 53 Crofton Road,Ng WELLINGTON, WA 6035

Julia Borlase (12) #4D Female 12-12 50 Back #4,12S #6D Female 12-12 100 Breast 1.46,72S #10D Female 12-12 50 Free 37,44S #10D Female 12-12 50 Free 37,44S #10D Female 12-12 200 Breast NT Lucy Borlase (12) #4D Female 12-12 50 Back #46,33S #6D Female 12-12 50 Back #46,33S #6D Female 12-12 100 Breast 1.41,22S #10D Female 12-12 100 Breast 1.41,22S #10D Female 12-12 200 Breast NT #22D Female 12-12 100 Free 37,43S #16D Female 12-12 100 Free 1.26,53S Isobel Caffery (12) #6D Female 12-12 50 Free #46,16S #18D Female 10-10 50 Back 53,96S #6B Female 10-10 100 Breast 2.17,14S #12B Female 10-10 100 Breast 2.17,14S #12B Female 10-10 100 Breast 1.59,28S #12B Female 10-10 100 Free 1.44,59S #22B Female 10-10 100 Free 1.44,59S #24B Female 10-10 100 Free 1.44,59S #4D Female 12-12 50 Back 49,32S #6D Female 12-12 50 Bree #6,81S #10D Female 12-12 50 Bree #6,81S #10D Female 12-12 200 Breast 2.11,24S #10D Female 12-12 200 Breast 3.11,24S #10D Female 12-12 200 Breast 3.14,07S #14B Female 10-14 400 Free NT #14F Female 14-14 400 Free NT #14F Female 14-14 400 Free NT #14F Female 14-14 200 Breast 3.40,07S #26F Female 14-14 200 Breast 3.40,07S #26F Female 14-14 200 Free 1.14,42S #10D Female 13-13 50 Free 31,66S #18E Female 13-13 100 Fly 1.14,51S #18E Female 13-13 100 Fly 1.14,51S #19C Female 11-11 100 Back NT #12C Female 11-11 100 Free NT #12C Female 11-11 100 Free NT #12C Female 11-11 100 Back NT #13C Female 11-11 100 Free NT #1	FEMA	ALE		
# 4D Female 12-12 50 Back # 1.46.728 # 10D Female 12-12 50 Free 37.448 # 10D Female 12-12 50 Free 37.448 # 16D Female 12-12 50 Bree 37.448 # 16D Female 12-12 200 Breast NT Lucy Borlass (12) # 4D Female 12-12 50 Back # 46.338 # 6D Female 12-12 100 Breast 14.1.228 # 10D Female 12-12 100 Breast 14.1.228 # 10D Female 12-12 100 Breast NT Female 12-12 100 Free 37.438 # 16D Female 12-12 100 Free 12.6.538 Sobel Caffery (12) # 6D Female 12-12 100 Breast 12.12 50 Free 46.168 # 10D Female 12-12 100 Breast 12.12 50 Free 46.168 # 18D Female 12-12 50 Free 46.168 # 18D Female 12-12 50 Free 46.168 # 18B Female 10-10 50 Back 53.968 # 18B Female 10-10 50 Back 53.968 # 159.288 # 159.288 # 12B Female 10-10 100 Breast 15.9288 # 12B Female 10-10 100 Breast 15.9288 # 12B Female 10-10 100 Free 144.598 # 12B Female 10-10 100 Free 144.598 # 14D Female 12-12 50 Free 46.818 # 14D Female 12-12 50 Back 49.328 # 16D Female 12-12 50 Back 49.328 # 16D Female 12-12 50 Free 46.818 # 14D Female 12-12 200 Breast 11.248 # 16D Female 12-12 200 Breast NT # 14D Female 12-12 200 Breast NT # 14F Female 14-14 200 Free 14.44 90 Free 1	Julia Bo	orlase (12)		
# 10D Female 12-12 50 Free # 16D Female 12-12 200 Breast NT Lucy Borlase (12) # 4D Female 12-12 100 Breast 1:41.228 # 6D Female 12-12 100 Breast 1:41.228 # 10D Female 12-12 50 Free 37.438 # 16D Female 12-12 200 Breast NT # 16D Female 12-12 200 Breast NT # 22D Female 12-12 100 Free 1:26.538 Isobel Caffery (12) # 6D Female 12-12 100 Breast 2:17.778 # 10D Female 12-12 50 Free 46.168 # 18D Female 12-12 50 Free 46.168 # 18D Female 12-12 50 Free 46.168 # 18B Female 10-10 50 Back 53.968 # 6B Female 10-10 100 Breast 2:17.148 # 12B Female 10-10 100 Free 1:44.598 # 22B Female 10-10 100 Free 1:44.598 # 22B Female 10-10 100 Free 1:44.598 # 24B Female 12-12 50 Back 49.328 # 4D Female 12-12 50 Breast 2:11.248 # 10D Female 12-12 50 Breast 2:11.248 # 10D Female 12-12 200 Breast 2:11.248 # 10D Female 12-12 200 Breast NT Elizabeth de Boer (14) # 16F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.648 # 16F Female 13-13 50 Free 31.668 # 16B Female 13-13 50 Free 31.668 # 18E Female 13-13 50 Free 31.668 # 18E Female 13-13 100 Free 1:08.648 # 22E Female 13-13 100 Free NT # 10C Female 13-13 50 Free NT # 10C Female 11-11 50 Back NT # 22E Female 11-11 50 Back NT # 22E Female 11-11 50 Free NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 22C Female 11-11 100 Breast NT # 22D Female 10-10 100 Breast NT # 22D Female 10-10 100 Breast NT # 22D Fema			44.12S	
# 16D Female 12-12 200 Breast Lucy Borlase (12) # 4D Female 12-12 50 Back 46.33S # 6D Female 12-12 100 Breast 1:41.22S # 10D Female 12-12 100 Breast 1:41.22S # 10D Female 12-12 200 Breast NT # 16D Female 12-12 100 Free 1:26.53S Isobel Caffery (12) # 6D Female 12-12 100 Breast 2:17.77S # 10D Female 12-12 100 Breast 2:17.77S # 10D Female 12-12 50 Free 46.16S # 18D Female 10-10 50 Back 53.96S # 6B Female 10-10 100 Breast 2:17.14S # 12B Female 10-10 100 Breast 2:14.59S # 22B Female 10-10 100 Free 1:44.59S # 24B Female 10-10 100 Free 1:44.59S # 24B Female 10-10 100 Free 1:44.59S # 14D Female 12-12 50 Back 49.32S # 6D Female 12-12 200 Breast 2:11.24S # 10D Female 12-12 200 Breast 2:11.24S # 10D Female 12-12 200 Breast NT Elizabeth de Boer (14) # 2F Female 14-14 400 Free NT # 14F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Breast 3:40.07S # 26F Female 13-13 50 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 50 Free 10.66S # 18E Female 13-13 50 Free 10.864S # 10E Female 13-13 50 Free 10.864S # 10E Female 13-13 50 Free NT # 14C Female 13-13 50 Free NT # 14C Female 11-11 50 Back NT # 16D Female 13-11 50 Free NT # 12C Female 11-11 50 Back NT # 12C Female 11-11 50 Back NT # 12C Female 11-11 50 Free NT # 1	# 6D	Female 12-12 100 Breast	1:46.72S	
Lucy Borlase (12) # 4D Female 12-12 50 Back	# 10D	Female 12-12 50 Free	37.44S	
Lucy Borlase (12) # 4D Female 12-12 100 Breast	# 16D	Female 12-12 200 Breast	NT	
# 4D Female 12-12 50 Back				
# 6D Female 12-12 100 Breast			46.33S	
# 10D Female 12-12 50 Free		Female 12-12 100 Breast	1:41.22S	
# 16D Female 12-12 200 Breast # 22D Female 12-12 100 Free 12-6.53S Isobel Caffery (12)				
# 22D Female 12-12 100 Free				
Sobel Caffery (12)				
# 6D Female 12-12 100 Breast			1.20.000	
# 10D Female 12-12 50 Free		* * *	2:17.778	
# 18D Female 12-12 50 Fly 55.718 Louise Cameron (10) # 4B Female 10-10 50 Back 53.968 # 6B Female 10-10 100 Breast 2:17.148 # 12B Female 10-10 100 Breast 1:59.288 # 22B Female 10-10 100 Free 1:44.598 # 24B Female 10-10 100 Fly NT Maia Cameron (12) # 4D Female 12-12 50 Back 49.328 # 6D Female 12-12 50 Breast 2:11.248 # 10D Female 12-12 50 Free 46.818 # 14D Female 12-12 50 Free 46.818 # 14D Female 12-12 200 IM 3:51.748 # 16D Female 12-12 200 IM 3:51.748 # 16D Female 12-12 100 Breast NT Elizabeth de Boer (14) # 2F Female 14-14 200 Free NT # 14F Female 14-14 200 IM 3:03.648 # 16F Female 14-14 200 Breast 3:40.078 # 26F Female 14-14 200 Free 2:41.428 Ella Flavell (13) # 8E Female 13-13 50 Free 31.668 # 18E Female 13-13 50 Free 1:08.648 # 22E Female 13-13 100 Free 1:08.648 # 24E Female 13-13 100 Free 1:08.648 # 24E Female 13-11 50 Bree NT # 22E Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Free NT # 12C Female 11-11 50 Free N				
Louise Cameron (10) #4B Female 10-10 50 Back 53.968 #6B Female 10-10 100 Breast 2:17.148 #12B Female 10-10 100 Breast 1:59.288 #22B Female 10-10 100 Free 1:44.598 #24B Female 10-10 100 Free 1:44.598 #24B Female 10-10 100 Fry NT Maia Cameron (12) #4D Female 12-12 50 Back 49.328 #6D Female 12-12 50 Breast 2:11.248 #10D Female 12-12 50 Free 46.818 #10D Female 12-12 200 IM 3:51.748 #16D Female 12-12 200 IM 3:51.748 #16D Female 12-12 200 IM 3:51.748 #16F Female 14-14 400 Free NT #14F Female 14-14 400 Free NT #14F Female 14-14 200 IM 3:03.648 #16F Female 14-14 200 Free 2:41.428 #18E Female 13-13 50 Free 31.668 #10E Female 13-13 50 Free 1:08.648 #22E Female 13-13 50 Free 1:08.648 #24E Female 13-13 100 Free 1:08.648 #24E Female 13-11 50 Free NT #22E Female 11-11 50 Back NT #10C Female 11-11 50 Free NT #12C Female 11-11 50 Free NT #12C Female 11-11 50 Free NT #12C Female 11-11 100 Back NT #18C Female 11-11 50 Free NT #22C Female 11-11 100 Breast Score NT #4B Female 10-10 50 Back NT #4B Female 10-10 50 Back NT #4B Female 10-10 50 Free NT #4C Female 11-10 50 Free NT #4B Female 10-10 50 Free NT				
#4B Female 10-10 50 Back 53.96S #6B Female 10-10 100 Breast 2:17.14S #12B Female 10-10 100 Back 1:59.28S #22B Female 10-10 100 Free 1:44.59S #22B Female 10-10 100 Free 1:44.59S #24B Female 10-10 100 Fry NT Maia Cameron (12) #4D Female 12-12 50 Back 49.32S #6D Female 12-12 50 Free 46.81S #14D Female 12-12 50 Free 46.81S #14D Female 12-12 200 IM 3:51.74S #16D Female 12-12 200 Breast NT Elizabeth de Boer (14) #2F Female 14-14 200 Free NT #14F Female 14-14 200 Breast 3:40.07S #26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) #8E Female 13-13 200 Fly 2:46.95S #10E Female 13-13 50 Free 31.66S #18E Female 13-13 50 Fly 32.07S #22E Female 13-13 100 Free 1:08.64S #24E Female 13-13 100 Free NT #10C Female 11-11 50 Back NT #10C Female 11-11 50 Free NT #12C Female 11-11 50 Free NT #18C Female 11-11 100 Back NT #18C Female 11-11 100 Breast 2:09.96S #10B Female 10-10 50 Back NT #4B Female 10-10 50 Back NT #4B Female 10-10 50 Breast 2:09.96S #10B Female 10-10 50 Free 44.24S			33.710	
# 6B Female 10-10 100 Breast 2:17.14S # 12B Female 10-10 100 Back 1:59.28S # 22B Female 10-10 100 Fre 1:44.59S # 24B Female 10-10 100 Fre 1:44.59S # 24B Female 10-10 100 Fre 1:44.59S # 24B Female 10-10 100 Fre NT Maia Cameron (12) # 4D Female 12-12 50 Back 49.32S # 6D Female 12-12 50 Breast 2:11.24S # 10D Female 12-12 50 Free 46.81S # 14D Female 12-12 200 IM 3:51.74S # 16D Female 12-12 200 Breast NT # 16D Female 12-12 200 Breast NT # 14F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.64S # 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S # Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Free 108.64S # 22E Female 13-13 100 Free 108.64S # 24E Female 13-13 100 Fly 1:14.51S # Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 12C Female 11-11 50 Fly NT # 22C Female 11-11 50 Fly NT # 22C Female 11-11 50 Fly NT # 22C Female 11-11 50 Fly NT # 3B Female 10-10 50 Back NT # 4B Female 10-10 50 Back NT # 4B Female 10-10 50 Back NT # 4B Female 10-10 50 Back NT # 6B Female 10-10 50 Free 44.24S			53 969	
# 12B Female 10-10 100 Back				
# 22B Female 10-10 100 Free				
# 24B Female 10-10 100 Fly Maia Cameron (12) # 4D Female 12-12 50 Back 49.328 # 6D Female 12-12 100 Breast 2:11.248 # 10D Female 12-12 20 IM 3:51.748 # 14D Female 12-12 200 IM 3:51.748 # 16D Female 12-12 200 Breast NT # 16D Female 12-12 200 Breast NT # 18F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.648 # 16F Female 14-14 200 Breast 3:40.078 # 26F Female 14-14 200 Free 2:41.428 # 18E Female 13-13 200 Fly 2:46.958 # 10E Female 13-13 50 Free 31.668 # 18E Female 13-13 50 Free 10:86.648 # 22E Female 13-13 100 Free 1:08.648 # 24E Female 13-13 100 Free NT # 12C Female 11-11 50 Back NT # 18C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 18C Female 11-11 50 Free NT # 22C Female 11-11 50 Free NT # 22C Female 11-10 Free NT # 32 Pemale 10-10 50 Back NT # 48 Female 10-10 50 Back NT # 48 Female 10-10 50 Back NT # 50 Pemale 10-10 50 Back NT # 68 Female 10-10 50 Free 44.248				
Maia Cameron (12) # 4D Female 12-12 50 Back 49.328 # 6D Female 12-12 100 Breast 2:11.248 # 10D Female 12-12 50 Free 46.818 # 14D Female 12-12 200 IM 3:51.748 # 14D Female 12-12 200 Breast NT Elizabeth de Boer (14) ** ** # 2F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.648 # 16F Female 14-14 200 Breast 3:40.078 # 26F Female 14-14 200 Free 2:41.428 Ella Flavell (13) ** # 8E Female 13-13 200 Fly 2:46.958 # 10E Female 13-13 50 Free 31.668 # 18E Female 13-13 50 Fly 32.078 # 22E Female 13-13 100 Free 1:08.648 # 24E Female 13-13 100 Fly 1:14.518 Helen Haywood (11) ** ** # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Fly NT # 12C Female 11-11 100 Free NT # 22C Female 11-				
# 4D Female 12-12 50 Back 49.32S # 6D Female 12-12 100 Breast 2:11.24S # 10D Female 12-12 50 Free 46.81S # 14D Female 12-12 200 IM 3:51.74S # 16D Female 12-12 200 Breast NT # 16D Female 12-12 200 Breast NT # 12F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.64S # 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S # 10E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Free 10:08.64S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Free 1:08.64S # 24E Female 13-150 Free NT # 10C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 22C Female 11-11 100 Free NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S			IN I	
# 6D Female 12-12 100 Breast 2:11.24S # 10D Female 12-12 50 Free 46.81S # 14D Female 12-12 200 IM 3:51.74S # 16D Female 12-12 200 Breast NT Elizabeth de Boer (14) # 2F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.64S # 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Fly 32.07S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Free 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S			40.229	
# 10D Female 12-12 50 Free 46.81S # 14D Female 12-12 200 IM 3:51.74S # 16D Female 12-12 200 Breast NT Elizabeth de Boer (14) # 2F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.64S # 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Free 1:08.64S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S				
# 14D Female 12-12 200 IM 3:51.74S # 16D Female 12-12 200 Breast NT Elizabeth de Boer (14) # 2F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.64S # 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Free 1:08.64S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 22C Female 11-11 100 Free NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S				
# 16D Female 12-12 200 Breast NT Elizabeth de Boer (14) # 2F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.648 # 16F Female 14-14 200 Breast 3:40.078 # 26F Female 14-14 200 Free 2:41.428 Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.958 # 10E Female 13-13 50 Free 31.668 # 18E Female 13-13 50 Fly 32.078 # 22E Female 13-13 100 Free 1:08.648 # 24E Female 13-13 100 Fly 1:14.518 Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 100 Free NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.968 # 10B Female 10-10 50 Free 44.248				
Elizabeth de Boer (14) # 2F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.64S # 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Fly 32.07S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 100 Free NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S				
# 2F Female 14-14 400 Free NT # 14F Female 14-14 200 IM 3:03.64S # 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Fly 32.07S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 50 Free 44.24S			NT	
# 14F Female 14-14 200 IM 3:03.64S # 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Fly 32.07S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 50 Free NT # 22C Female 11-11 100 Free NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S				
# 16F Female 14-14 200 Breast 3:40.07S # 26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Fly 32.07S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S				
# 26F Female 14-14 200 Free 2:41.42S Ella Flavell (13) # 8E Female 13-13 200 Fly 2:46.95S # 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Fly 32.07S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 50 Free 44.24S				
#8E Female 13-13 200 Fly 2:46.958 # 10E Female 13-13 50 Free 31.668 # 18E Female 13-13 50 Fly 32.078 # 22E Female 13-13 100 Free 1:08.648 # 24E Female 13-13 100 Fly 1:14.518 # Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT # 22C Female 11-10 Free NT # 24B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.968 # 10B Female 10-10 50 Free 44.248				
# 8E Female 13-13 200 Fly 2:46.958 # 10E Female 13-13 50 Free 31.668 # 18E Female 13-13 50 Fly 32.078 # 22E Female 13-13 100 Free 1:08.648 # 24E Female 13-13 100 Fly 1:14.518 Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.968 # 10B Female 10-10 50 Free 44.248			2:41.42S	
# 10E Female 13-13 50 Free 31.66S # 18E Female 13-13 50 Fly 32.07S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S				
# 18E Female 13-13 50 Fly 32.07S # 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S	# 8E	Female 13-13 200 Fly	2:46.95S	
# 22E Female 13-13 100 Free 1:08.64S # 24E Female 13-13 100 Fly 1:14.51S Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 50 Free 44.24S	# 10E	Female 13-13 50 Free	31.66S	
# 24E Female 13-13 100 Fly 1:14.518 Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.968 # 10B Female 10-10 50 Free 44.248	# 18E	Female 13-13 50 Fly	32.07S	
Helen Haywood (11) # 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) ** NT # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S	# 22E	Female 13-13 100 Free	1:08.64S	
# 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S	# 24E	Female 13-13 100 Fly	1:14.51S	
# 4C Female 11-11 50 Back NT # 10C Female 11-11 50 Free NT # 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S	Helen H	Haywood (11)		
# 12C Female 11-11 100 Back NT # 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S			NT	
# 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S	# 10C	Female 11-11 50 Free	NT	
# 18C Female 11-11 50 Fly NT # 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S	# 12C	Female 11-11 100 Back	NT	
# 22C Female 11-11 100 Free NT Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S			NT	
Caity Heeney (10) # 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S			NT	
# 4B Female 10-10 50 Back NT # 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S				
# 6B Female 10-10 100 Breast 2:09.96S # 10B Female 10-10 50 Free 44.24S	1	* · ·	NT	
# 10B Female 10-10 50 Free 44.24S				

Individual Meet Entries Report

FEMA	ALE		
Isabel I	Hogg (10)		
# 6B	Female 10-10 100 Breast	1:47.31S	
# 12B	Female 10-10 100 Back	1:47.87S	
# 14B	Female 10-10 200 IM	NT	
# 16B	Female 10-10 200 Breast	NT	
# 22B	Female 10-10 100 Free	1:38.90S	
# 26B	Female 10-10 200 Free	NT	
Hannal	h Hull (10)		
# 4B	Female 10-10 50 Back	NT	
# 6B	Female 10-10 100 Breast	2:14.318	
# 10B	Female 10-10 50 Free	47.61S	
Caitlin I	Kenderdine (13)		
# 4E	Female 13-13 50 Back	NT	
# 10E	Female 13-13 50 Free	NT	
# 22E	Female 13-13 100 Free	NT	
Victoria	a-Rose Manu (11)		
# 4C	Female 11-11 50 Back	42.34S	
# 6C	Female 11-11 100 Breast	1:46.03S	
# 10C	Female 11-11 50 Free	35.06S	
# 16C	Female 11-11 200 Breast	NT	
# 18C	Female 11-11 50 Fly	1:08.48S	
# 22C	Female 11-11 100 Free	1:22.978	
# 26C	Female 11-11 200 Free	3:13.228	
	cLennan (11)		
# 4C	Female 11-11 50 Back	42.44S	
# 6C	Female 11-11 100 Breast	NT	
# 10C	Female 11-11 50 Free	33.97S	
# 12C	Female 11-11 100 Back	NT	
# 22C	Female 11-11 100 Free	NT	
	Over (13)		
# 8E	Female 13-13 200 Fly	3:29.04S	
# 10E	Female 13-13 50 Free	30.50S	
# 12E	Female 13-13 100 Back	1:16.198	
# 18E	Female 13-13 50 Fly	36.148	
# 26E	Female 13-13 200 Free	2:30.718	
# 28E	Female 13-13 400 IM	7:08.27S	
	Perks (12)	,	
# 4D	Female 12-12 50 Back	48.00S	
# 10D	Female 12-12 50 Free	37.29S	
# 14D	Female 12-12 200 IM	3:29.268	
# 18D	Female 12-12 50 Fly	40.938	
# 24D	Female 12-12 100 Fly	NT	
	h Pulham (11)	- 1.	
# 4C	Female 11-11 50 Back	47.39S	
# 6C	Female 11-11 100 Breast	1:55.438	
# 10C	Female 11-11 50 Free	37.588	
# 12C	Female 11-11 100 Back	1:40.78S	
# 14C	Female 11-11 200 IM	3:29.75S	
# 22C	Female 11-11 100 Free	1:28.78S	
	alayeva (12)	1.20.700	
# 4D	Female 12-12 50 Back	NT	
# 4D # 6D	Female 12-12 100 Breast	NT	
# 0D # 10D	Female 12-12 50 Free	NT NT	
# 18D	Female 12-12 50 Fly	NT	
# 22D # 26D	Female 12-12 100 Free	NT	
# 26D	Female 12-12 200 Free	NT	

Individual Meet Entries Report

2014 Kiwi Cash Meet 17-Aug-14 SC Meters Karori Pirates Swimming Club [KRIWN] Group: SW SubGroup: C13 Coach: Steve Francis

FEMALE

Jocelyr	n Sinclair (12)	
# 4D	Female 12-12 50 Back	NT
# 10D	Female 12-12 50 Free	48.74S
# 18D	Female 12-12 50 Fly	NT

Individual Meet Entries Report

MALI	E		
Eliah As	shby (10)		
# 3B	Male 10-10 50 Back	NT	
# 9B	Male 10-10 50 Free	NT	
# 21B	Male 10-10 100 Free	NT	
Oliver D	Dinnan (11)		
# 9C	Male 11-11 50 Free	37.11S	
# 13C	Male 11-11 200 IM	NT	
# 17C	Male 11-11 50 Fly	47.37S	
# 21C	Male 11-11 100 Free	1:28.16S	
Caleb D	Douglass (18)		
# 5I	Male 17 & Over 100 Breast	1:33.81S	
# 9I	Male 17 & Over 50 Free	33.45S	
# 15I	Male 17 & Over 200 Breast	3:23.35S	
# 21I	Male 17 & Over 100 Free	1:13.56S	
Callum	Fleming (11)		
# 3C	Male 11-11 50 Back	43.53S	
# 9C	Male 11-11 50 Free	36.05S	
# 15C	Male 11-11 200 Breast	NT	
# 17C	Male 11-11 50 Fly	43.118	
# 25C	Male 11-11 200 Free	NT	
Callum	Hancock (13)		
# 7E	Male 13-13 200 Fly	3:41.99S	
# 15E	Male 13-13 200 Breast	3:35.47S	
# 27E	Male 13-13 400 IM	NT	
Alex He	eeney (11)		
# 5C	Male 11-11 100 Breast	1:43.75S	
# 9C	Male 11-11 50 Free	34.94S	
# 15C	Male 11-11 200 Breast	NT	
James	Hercus (8)		
# 3A	Male 9 & Under 50 Back	49.40S	
# 9A	Male 9 & Under 50 Free	40.07S	
# 17A	Male 9 & Under 50 Fly	51.13S	
# 21A	Male 9 & Under 100 Free	NT	
	ercus (10)		
# 3B	Male 10-10 50 Back	55.73S	
# 5B	Male 10-10 100 Breast	2:14.45S	
# 9B	Male 10-10 50 Free	43.918	
# 21B	Male 10-10 100 Free	1:47.63S	
	Homewood (11)		
# 3C	Male 11-11 50 Back	43.988	
# 13C	Male 11-11 200 IM	NT	
# 17C	Male 11-11 50 Fly	40.70S	
# 25C	Male 11-11 200 Free	3:08.67S	
	Johnston (11)		
# 3C	Male 11-11 50 Back	NT	
# 5C	Male 11-11 100 Breast	NT	
# 9C	Male 11-11 50 Free	NT	
# 21C	Male 11-11 100 Free	1:40.35S	
	I Lang (10)		
# 3B	Male 10-10 50 Back	NT	
# 5B	Male 10-10 100 Breast	1:58.65S	
# 9B	Male 10-10 50 Free	41.53S	
# 13B	Male 10-10 200 IM	NT	
# 15B	Male 10-10 200 Breast	NT	
# 17B	Male 10-10 50 Fly	NT	
# 21B	Male 10-10 100 Free	1:38.95S	

Individual Meet Entries Report

MALE	Ξ	
Jedi Mo	orland Janes (12)	
# 1D	Male 12-12 400 Free	NT
# 9D	Male 12-12 50 Free	31.82S
# 17D	Male 12-12 50 Fly	34.40S
# 19D	Male 12-12 200 Back	NT
# 27D	Male 12-12 400 IM	NT
Harrison	n Neal (13)	
# 7E	Male 13-13 200 Fly	NT
# 19E	Male 13-13 200 Back	NT
# 27E	Male 13-13 400 IM	NT
James (O'Brien (8)	
# 3A	Male 9 & Under 50 Back	53.85S
# 9A	Male 9 & Under 50 Free	45.72S
# 21A	Male 9 & Under 100 Free	NT
Eamon	Robins (11)	
# 5C	Male 11-11 100 Breast	1:35.418
# 9C	Male 11-11 50 Free	32.50S
# 15C	Male 11-11 200 Breast	NT
# 25C	Male 11-11 200 Free	2:43.11S
Ethan V	Vildash-Chan (12)	
# 3D	Male 12-12 50 Back	52.66S
# 5D	Male 12-12 100 Breast	NT
# 9D	Male 12-12 50 Free	42.13S
# 17D	Male 12-12 50 Fly	NT
# 21D	Male 12-12 100 Free	NT
Jamie V	Vildash-Chan (9)	
# 3A	Male 9 & Under 50 Back	NT
# 9A	Male 9 & Under 50 Free	NT
# 21A	Male 9 & Under 100 Free	NT

Individual Meet Entries Report

Female IE's:	90
Male IE's:	68
Total IE's:	158
Total Athletes:	36